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PART -1: GENERAL ENGLISH

Read the sentences and choose the right answer and mark it.

1. Prabha feels she is Sarojini Naidu.
(1) a (2) the
(3) an (4) no article
2.  Neither Rahul nor I the viction of the last year’s flood.
(1) 1s (2) am
(3) are (4) being
3.  There were a lot of its in the insurance policy. What part of speech is the underlined word?
(1) Noun . (2) Conjunction
(3) Preposition (4) Interjection
4.  She can solve the problem, ?
(1) Canshe (2) Canher
(3) Can’tshe (4) Can’ther
5.  Penicillin (discover) in 1928.
(1) discovered (2) is discovered
(3) wasdiscovered (4) -hasbeen discovered
6. It’s sodark that I can’t see anything.
Change the above sentence into simple sentence.
(1) It’stoo dark to see anything.
(2) It’stoo dark for me to see anything.
(3) It’sverydark and I can’t see anything.
(4) Ican’tsee anything because it’s very dark.
7. Sheis fond classical dance.
(1) with (2) on
(3) for (4) of
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Let me see the picture - change into passive voice.

(1) The picture is seen by me (2) Letthe picture be seen by I

(3) Letthe picture be seen by me (4) Let the picture is seen by me
9.  Choose the correct sentence.

(1) TIowna factory (2) Iamowninga factory

(3) I'wasowning a factory (4) Ihavebeenowning a factory
10. the meaning of new English words in your dictionary.

(1) Lookin (2) Lookup
(3) Look after (4) Look into

For [Q.No. 11 to 20]: Read the following passage carefully and choose the correct answer to the
questions that follow.

Modification (GM) is the science by which the genetic material of a plant is altered, perhaps to

The controversy over genetically modified food continues unabated in the West. Genetic

make it more resistant to pests or killer weeds, or to enhance its nutritional value. Many food
biotechnologists claim that GM will be a major contribution of science to mankind in the 21%
century. On the other hand, large numbers of opponents, mainly in Europe, claim that the benefits
of GM are a myth propagated by multinational corporations to increase their profits, and that
they pose health hazards they have therefore, called for governments to ban the sale of genetically-
modified food.

The anti-GM campaign is quite effective in Europe, with several European member countries
imposing a virtual ban for five years over genetically-modified food imports. Since the genetically
modified food industry is particularly strong in the United States of America, the controversy
also constitutes another chapter in the US-Europe Skirmishes which have become particularly
acerbic after the US invasion of Iraq.

11.

What is genetic modification?

(1) Altering the physical characteristics of a plant W
(2) Altering the genetic material of a plant

(3) Altering the nutritional value of a plant :
(4) Altering the taste of a plant

12.

What is the major contribution of science to mankind in the 21 century?

(1) Genetically modified food (2) Multinational corporations
(3) Genetic Modification (4) Pesticides and Weedicides
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13. Where is the anti-GM campaign effective?
(1) USA - (2) Australia
(3) Allover the world (4) Europe
14. Choose the ANTONYM of the word ‘benefit’.
(1) gain (2) disadvantage
(3) asset (4) boon
15. Find the word in the passage which means ‘to engage in a minor dispute’.
(1) imposing (2) claim
(3) skirmishes (4) enhance
16. What is the part of speech of the word ‘nutritional’?
(1) Noun (2) Adjective
(3) Adverb (4) Conjunction
17. According to the passage where does the controversy over genetically modified food
continue?
(1) Inthe West (2) Inthe East
(3) Inthe South (4) Inthe North
18. Biotechnologist is the person who studies
(1) human mind and behaviour
(2) life style of birds and animals
(3) genetic, chemical and physical attributes of cells
(4) humans and their customs scientifically
19. Choose the Adjective form of the word ‘HAZARD’.
(1) Hazardly (2) Hazardom
(3) Hazardously (4) Hazardous
20. Who called for governments to ban the sale of genetically-modified food?
(1) A few people in Europe (2) Large number of opponents in Europe
(3) Multinational companies g (4) Biotechnologists
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21. Choose the word for the phonetic script given —

/dz"nk/
(1) drunk (2) donkey
(3) jockey (4) junk

22. Find the word that is different from the other words in the group with regard to the sound
of the underlined letters.

(1) mean (2) measure
(3) leisure (4) pleasure
23. Choose the wrongly spelt word
(1) bouquet (2) mis chevous
(3) foreign (4) discipline
24. Identify the silent letter in the word ‘DEBRIS’
(1) d 2) b
) r (4) s
25. Identify the number of syllables in the word ‘CONSTABLE’.
()4 (3
(3) 2 4) 1
26. Choose the meaning of the word ‘ANIMATE".
(1) Having life (2) Havingno life
(3) A creature that has spirit (4) Ofbeing great spirit
27. Choose the word that has a wrongly market stress.
(1) A'bility (2) Communi'cation
(3) 'Sort (4) 'Beside
28. Whois the author of the poem ‘The Tables Turned’?
(1) Mark Twain (2) Sarojini Naidu
(3) William Wordsworth (4) H.W.Longfellow
29. Inwhich of the following essays the author says that work is worship?
(1) Incelebration of Being Alive (2) The secret of work
(3) Learning from the west (4) JC Bose
30. Inthe Novel ‘The Adventures of Tom Sawyer’ who plays the villain role?
(1) Huck (2) Muff potter
(3) InjunJoe (4) Widow Douglas

V-General English 6




PART - 11 : ECONOMICS

31. Per Capita Income means

National Income

(1) National Income x Population (2) Population

Population
(3)  National Income

G000 sTroHIn S

(4) Growth rate of National Income

2 AOSrT oS0
Dy

(1) =r8cSrmrodn x B3I (2)

3 BT
(3) Pl Tove L wLTo N b INOY)

32. The Law of Diminishing Marginal utility based on

(4) @=dosrmra HHEF0LW

(1) Ordinal Utility (2) Form Utility
(3) Cardinal Utility (4) Service Utility
5" 08 PArad Dpodo BID GTEHEIL?

(1) &83& Pirado (2) &rd PAr=so
(3) 535 PRraso (4) 2o PArasSo

33. What is Gross Domestic product?
(1) The total value of Goods and services produced in the country.
(2) The total value of all the economic transactions in the country.
(3) The total value of final goods and services produced in the country during a financial
year.
(4) The total value of Intermediary goods in the country.

dro 3888 odm

(1) 28 308" &8 vond Ingo SRIJHo, Do e

(2) =8 B¥os'Q Indo ©Y8 Sg3Tore Jewdd,

(3) =8 B¥os'Y 68 JoIHTINS® &8 wond Vo8 IRYo DI dend
(4) =8 BHoS* HEgodsd SNJo Jend

34. The process that converts inputs into output is known as

(1) Production (2) Distribution
(3) Exchange . (4) Consumption
SET0H GHBT Sr0) PEKH JHotrd?

(1) =88 (2) Hoded

(3) SrEE€sm (4) DIR>KB»
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33,

Identify the wrong one

(1) Wealth Definition - Adam Smith

(2) Welfare Definition - Marshall

(3) Growth Definition - Jacob Viner’s
(4) Scarcity Definition - Lionel Robbins

& (808 T8S* J05°d A KrgoSod.
(1) J0d& dgsSo - sdd 9§

(2) %08 dgSS0 - SrdS

(3) 3)8 dgsSo - =ES 35

(4) 5§68 5SS - RIS TAY)

36.

Wants satisfying power of a commodity is known as

(1) Money (2) Satisfaction
(3) Utility (4) Consumption
5850 Sodyn Babrde SNYH Foggl) ABootrdd?

(1) &3go (2) Dogyn

(3) BAr=s0 (4) A3RrK0

37

When total utility is maximum, marginal utility becomes

(1) Marginal utility falls (2) Negative
(3) ZERO (4) Increases
Awugo PAraso KBgom VYW, GFrod HAraso

(1) &&rod PArzdo 835308 (2) Serdgo
(3) #Sgo (4) &K$08

38.

The Law of Equi-marginal utility is also known as
(1) H.H. Gossen’s first law

(2) JM.Keyn’ssecond law

(3) H.H. Gossen’s second law

(4) J.R.Hick’s first law

SAr>od PRrud JFFosds Ho HH8BNE .
(1) HH. w28 @6 somgo

(2) JTM.E3) BodS &rmgo

(3) HH. m28 Bods domgo

(4) IR 2§ 6% Smgo
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39.

Relationship Exists between the price and the quantity Demanded of a commodity

(1) Positive (2) Negative

(3) ZERO (4) None

wf S0P 6%, o B5rol H0EredE Aol Sowogo wonod?
(1) G 8o (2) Soerrgygo

(3) #g0 (4 285

40.

The Law which states that what will be response of output when all inputs are increased in
a fixed proportion?

(1) LawofDemand

(2) Law of Supply

" (3) Law of Variable proportion

(4) Law of Returns to scale

&$)8 5500 ol VDI DoAY &) TEv0 ST, GEBE Sy
&) Soword) J dr@o DHBH0E?

(1) &S0l Somgo

(2) dow Jgo

(3) JoyEdE &8 doo

(4) 85503000 PaPrew drE@o

®) 3ngo wd\d 4) Fdoe Jopg

41. Indifference curves are always to the origin
(1) Tangent (2) Convex
(3) Negative (4) Concave
STOIE HE0pen JEBYEr SaredodP Jo Golrow?
(1) JdroddSnom (2) Hozrstdorr
| (3) SerdESnm (4) Jtrsorr
i
P 42. Average product
i (1) Total product x No. of Workers (2) A= 1P
i 3) No. of Workers employed @) Total product
Total product No. of Workers employed
Jhen 8 -
(1) Jwgo &8 x T WO Jopg (2} TRy—T5y
T Sopy 3ngo ad\8
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43.  Who introduced the concept of scarcity rent?
(1) Alfred Marshall (2) J.S.Mill
(3) Adam Smith (4) Joan Robinson
§88 arisfo IS8 ISH PIFDETE?
(1) s5E& 85 (2) J1S. &
(3) @& S (4) s TAIDS
44.  Who propounded the famous law of market “supply creates its own demand”?
(1) A.C.Pigou (2) J.B.Say
(3) J1.S.Mill (4) Alfred Marshall
“HP% 85 B5rosS &3 H)[0wE06008” ST dr@ose IS5 JFNoTE?
(1) A.C. oK ) I1B.®
(3) J1S.é& (4) sSP& SrdS
45. Who wrote the famous book “Wealth of Nations”?
(1) J.M.Keynes (2) Alfred Marshall
(3) Robbins (4) Adam Smith
©grgd® FodS “Trarge Jod&” oI Ko Q) 5K SN E?
(1) JM. &5 (2) eSP& rES
(3) oTd (4) w8 S
46. Primary Deficit :
(1) Total Revenue — Total Expenditure
(2) Fiscal Deficit - Interest payments
(3) Total Revenue + Total Expenditure
~(4) Revenue Receipts — Revenue Expenditure
PG St s :
(1) Jmngo ke — Sgo Sgaioren
(2) S¥HEBS ' — 5§ BYoHen
(3) Bwogo Taden + Indo Sgasren
(4) TI3>rg Tradoen — BILorg Sgosren
47. Inwhich year “Reserve Bank of India” was established?

“rEE Basdog wrgoB Mo 2 Jod@)ESns® bc‘f_)@o DTE?
(1) 1935 (2) 1945
(3) 1949 (4) 1950
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48.

Budget in which the total Expenditures and the total revenues are equal?

(1) Balanced Budget (2) Surplus Budget

(3) Deficit Budget (4) None

3ndo Traden, Bngo Sgairen JSrIomr &) wgEd dHotrdd?
(1) P08 238 : (2) e 288

(3) &to 2885 (4) b5~

49.

Find the Arithmetic mean for the data 30, 20, 32, 16, 27
30, 20, 32, 16, 27 © @o8Egioo Jo&?
(1) 28 iy 235 (3) 30 (4) 20

50.

Formula for Relationship among mean, median and mode
(1) Mode =2 median + 3 mean
(2) Mode =3 median x 2 mean
(3) Mode =3 median — 2 mean
(4) Mode =3 median + 2 mean

©0oESgH00, SogigHEsn Bosn wrFvdo Hdgie Sowor) 890 drgo.

(1) erdvddo = 2 HoFgisdn + 3 woslggdoo
(2) erdvddo = 3 Soggrddn x 2 wosdggsoo
(3) erdvdso = 3 DoPgrdin — 2 wosdggso
(4) erdodgo = 3 HEghdSn + 2 woERggdoo

51. The Government of India has established “NITI Ayog” to replace the
(1) Human Rights commission (2) Law commission
(3) Planning commiss:on (4) Finance commission
TES (BehEgE0 Q) Do FHoS' V8 e@rhH Aorykn BIIB?
(1) 5038 o dodo (2) o dodo

. (3) Pwds dHowo (4) g8 dodo

~ 52. Period of “Plan Holiday”

Per¥s Qoo oW
(1) 1990-92 (2) 1966-69 (3) 1978-80 (4) 1992-95

53. Who introduced the concept of “Human Development Index™?
(1) Paul Samuelson (2) Morris D Morris
(3) Mahbub-Ul-Haq (4) James Tobin
“SrdTdiyn SraE” ol ISt @3F DYoo
(1) 6 lrgdds (2) 3788.8.388
(3) DTard-&S-3§ (4) By &*OS
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54.

Which is not the characteristic feature of developed country?

o)

(1) High per capita income (2) Better quality of life
(3) Low level of unemployment (4) Dual Economy

IR BodS Bdo ©¥wo TS IB?

(1) 68 08 esmrasho (2) J&as 258 HIreo
(3) 883 Fows* AH& g0 (4) ©88 &godsdesn

The term which refers to progressive changes in the socio economic structure of a country
(1) Economic Growth (2) Economic Development
(3) Under Development (4) Unemployment

3¥ oE, ©8E AoYRINS® Hogidod BHGte SrOR HrDoWHSE
(1) 8 53 2) 88553

(3) Idokerin SS550 (4) dnsgro

56.

Sarva Shiksha Abhiyan was introduced in the year

DEGRE BPArS IEEQ) O JoSHTENS* DI Depd>?
(1) 2002-03 (2) 2001-02
(3) 2004-05 (4) 2009-10

57.

The term Birth Rate Refers to

(1) Number of birth per thousand population

(2) Number of birth per hundred population

(3) Number of death per thousand population

(4) Number of birth per one lakhs population
2350ENH rDothHdd 287

(1) @8 Joxng H0d z23grs* JodSod LSRRI
(2) ©8 508 508 23S’ JodH0d YT
(3) ©8 JowgHod aTTS* Jodod S SHIYED
(4) D8 of S0d zayrrs® JodSod ST

58.

Calculate the Range for the data

20, 25, 29, 30, 40, 42, 56, 62 and 80

& (§od Sgro¥os’ Tgd HedoSod.

20, 25, 29, 30, 40, 42, 56, 62 308050 80

(1) 50 (2) 60
(3) 40 (4) 80
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59.

The largest port in Andhra Pradesh

(1) Kirishnapatnam port (2) Kakinada port
~ (3) Visakhapatnam port (4) Gangavaram

BOGHAT THos* w8 DY LESH

(1) 8y3dé0 (2) s8&

(3) dzpddo (4) HoKiS8o

60. What is the total literacy rate in Andhra Pradesh as per 2011 census?
2011 zaver B o H5°60 WOEPAT Sndo VET¥ES Dt Jod?
(1) 74.36% (2) 52.78%
(3) 62.14% (4) 67.35%
61. Deen Dayal Upadhyaya Grameen Kaushal Yojana (DDUGKY) programme was launched on
(1) 15% August 2015 (2) 25% September 2015
(3) 25% September 2014 (4) 15% August 2010
BEBSrE Gl (rabe T¥o Grad HEES50 By @FEodowrdd?
(1) ey 15, 2015 (2) wRowd 25, 2015
(3) »Qowd 25, 2014 (4) ey 15,2010
62. “Disguised unemployment” in India is mainly related to which sector?
(1) Agriculture sector (2) Industrial sector
(3) Service sector (4). Private sector
) AHE'gAS” K05 BFoS* O Sorrd8 BodIH?
(1) Sgdarcs Sodo (2) J/ESe BoKo
(3) wadoio (4) @IS Soflo
63. The objective of “Twelfth five year plan™ is
(1) Human Resource development
(2) Inclusive Growth
(3) Faster, sustainable and more inclusive growth
(4) Poverty Eradication
125, HouS8 @er@8 ©Fgo Q0?
(1) 3035 S3%0 w5
(2) [0 33
(3) D&go, éo?‘gd SSlsTevey] é:)agi?é 53%
(4) HEBE Jdres
64. Inwhich year Government of India implemented “New Economic Reforms™?

rEE (DHe0dE0 O 0SB0 “WrdS 6 Jof,Swen” BIF Pird?
(1) 1985 (2). 1991

(3) 1915 (4) 2005
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65.

The process of development which sustains the human wellbeing in future also

(1) Economic development (2) Human development

(3) Resource development (4) Sustainable development
TASESErE SrdS D0BSrY) Yo FIFAoWHIR ©DS)B BBc.
(1) 85958 (2) SrITRDG

(3) S3%e 53 (4) SRS BB

66.

In India Special Economic Zone (SE-Z) act was passed in the year
TESBISNS HBgE Q¥ Hoode) BLENDH D VoSHIZNS® BTcs?

67.

(1) 2000 (2) 2005

(3) 2009 (4) 2010

The process of integrating the domestic economy with the world economy is called
(1) Liberalization (2) Privatization

(3) Globalization (4) Urbanisation

37 &0 Sg5%0, BHows BfE SgIPE” wHVoTISN B BEAD IH0erd?
(1) 28986 (2) P38&8e

3) @33’3'05)5659 (4) HeBESe

68.

In which year Kisan Credit Card Scheme was introduced?

8PS BAS 5°¢) DEE50H Q) JoSHELNS® HIFDELE?
(1) 1995-96 : (2) 1998-99
(3) 2000-01 (4) 1990-91

69.

The first five year plan gave importance to

(1) Agriculture sector (2) Industrial sector
(3) Private sector (4) Service sector
I0EG HoSSE DT Q) o8 IS 2D)od.

(1) SgSras oo (2) roFE Joffo
(3) @I& BoKo (4) ®bgo Koo

70.

In which year was Government Nationalized 6 Commercial Banks?
Q DoSHBHS® Hehdto 6 Tedag wrgofo 8o BLod?
(1) 1951 (2) 1969

(3) 1980 (4) 2000
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PART - III : MATHEMATICS

71. Domain of f(x)=w is

£(x)= (x-1)(x-2)

B0, DRFS0
x> +1 b
(1) [1,2] 2) (1,2) (3). ‘B=A1.23) 4 R
1)
72. The Rank ofthematrix |1 1 1]is
=34
| e
1 1 1| 3@8 Dog), oogosod
B S
() 0 (2) 1 (3) 2 4) 3
n*(n+1)*
73, Pl ida +nr=K———"theaK=
2 2
Pead s o0 =K# wond K dens
= -2 o] 4) 4
(1) > ) (3) 1 4)

74. The system of equations x + y +z = 6, x + 2y + 3z = 10 and 2x + 4y + Az = 20 is consistent
if A =

X+y+z=6,x+2p+3z=10500050 2x + 4y + Az = 20 dDESS0 ok S5l
QoS A =

(1) 6 (2) -6 3) 4 Lo e
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75. The vector equation of the plane passing through @,b,¢ is 7 =(1-a)a+ab+ fc
provided 3 =
(1) -1 2) 0 3) 1 (4) None
a,b,T © oo P> Svo HBTINEERIN F=(1-a)a+ab + fc wons P deos
(1 -1 2) 0 3) 1 (4) b5
76. Ifa=i—j+k and b =-2i+ Aj+ 3k are perpendicular then A =
(1) 0 2) 1 3) 2 (4) None
a=i-j+k 58050 b=-2i+Aj+3ked wETIFES 0083 A Deni
(1) 0 (2) 1 {3) 2 (4) b5
77. InaAABC,secA (cosCcos B-sinCsinB)=
(). 9 (2)- 1 3) -1 (4) None
AABC &* secA (cos Ccos B=sinCsinB) =
(1) o (2)- 1 3 -1 (4) bso
78. The maximum value of 3sinx + 4cosx — 5 is
(1) 0 2) 1 3) -l (4) None
3sinx + 4cosx — 5 B, HOR Jewd
(1) 0 2) 1 (3) -1 (4) 265
79. Inan equilateral triangle the value of % is

BSoerdo Behmos® % Dend

S

B | =

1 1
g @' 5 3)

V-Maths 16
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80. A person is standing at a distance of 20 m from a building looking at its top. The angle of
elevation is 45° then the height of the building is

(1) 10m (2) 20m (3) 30m (4) 40m

o€ 550 S008 2000 Sros' Jowdd Sg§, FS550 S 45°% ﬁgsﬁ‘moé‘
Ho0NS & FId0 &y Jod?

(1) 10 . (2) 20 5. (3) 30 &v. (4) 40 5.

A 100 , 2100 1
81. Ifo, B are the complex cube roots of unity then & + i +W =

1
a'% _ﬁmo o

(1) 0 (2) 1 (3) 2 4 3

o, P oo 1 Gwg, Sobg wssarerer wows @'+ +

82. If|z— 3| =4 then the locus of z is
(1) A circle with centre (3, 3) and radius 4 units
(2) A circle with centre (0, 3) and radius 2 units
(3) A circle with centre (3, -3) and radius 2 units
(4) A circle with centre (3, 0) and radius 4 units
z &3 Hobg Sopgss |z 3| =4 o8 & Sobg Yopg HrdoB Do HESn
(1) Sodn (3, 3) Hodcsw argargsn 4 @lrereon EOS Sy
(2) Bodn (0, 3) HoBosn argargsn 2 @lrereon EOS Sydsn
(3) Sosw (3, -3) Hobosn Frgrgsn 2 Pareren EOS HysSo
(4) Bos» (3, 0) H0ckw Tgrgsn 4 BirereoT S BEsw

83. Ifx=(cosisr—+isin%) and y=(cos-95£—isin9?x] then the value of x*-y™is

: 9 S
x=[cos%+ism%) Sobasw y=[cos—5£—zsm?5£) wond xty? =

(1) 0 @) 1
(3) i : 4) -i
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84. The equation Iogg_x)+logg3_x) =1 has !

(1) Only one root (2) Tworoots

(3) Three roots (4) None

log{+10g{™ =1 sM8dm30s58

(1) 23 a8 Soroswn (2) Bodk Soreren

3) Sord Soreren (4) b5

1120
85. The term independent of x in the expansion of (I + x)20 [l +—J is
X
12
(l+x)20[1+—J D3Bes* x B Do
X

() %, OF 0, <y @ *c,,

¥ +x+1 B e
86. 2 =A+ 5.3 3 2 thenA+B+C=

(x+1) x+l (x+1) :
X +x+1 B €
B e R 7 woud A+B+C=
(x+1) x+1 (x+1)

(1) -1 2) 0 3) 1 ) 2
87. The polynomial x* — kx? + 4x has three real zeros if and only if

X3 = ko? + 4x 093 250568 Ko 3 LTTgen TS Sopgen B0

(1) |k >4 (2) |k<4

3) |k|=4 (4) |k|<4
88. Inhow many different ways can the letters of the word APRDC canbe arranged if the word

starts with an vowel?

APRDC &3 36085'0 vgrroshH ond® 3ndodhy dGom Q) S5enrr esd)iesn?

(5 =2 (2) 6 ¢33y 12 4) 24

3 !

89. Standard deviation of first 11 natural numbers is

08¢ 11 S vopge B DSeso.

(D 1 @ s ®3) Jio 4 20
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90. A coin is tossed 5 times at random. The probability of g'etting all heads is

M 16 (2) 32

3 - 4) N

i (4) None

ol B0 5> s o:iréaat)éom @‘bnl TS0 e %) dogrdgs
1 A 2 4

(1) 16 () 1

3 —1- 4) b5

o (@) bbs

91. Ifthe lines 2x + 4y = 6, 2x + 3y = 4, 3x + ky = 5 are concurrent then the value of k is
: 2x+4y=6,2x+3y=4,3x + ky = 53pe0 P& Tpen ®ond kIend
(1) 1 (2 2 (3) 3 (4 4

92. The points (1, 2, 3), (2, 3, 1) and (3, 1, 2) form
(1) ascalene triangle
(2) aright angled triangle
(3) anequilateral triangle
(4) none
DocoYen (1,2, 3),(2,3,1) 08050 (3, 1,2) oo e0dm 8)50S8.
(1) I3 erdo @gh0
(2) oo Bgbeo
(3) J3D oo Beheo

(4) b5
_2|
g
93 x—2 x—2
(1) 0 (2)- 1
3) -1 (4) Does not exist
e
=2 x—2
i)- 0 (2 1
3) -1 (4) SgSdo 57
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d
94. If y=log(secx—tanx) then 9

dx
y =log(secx—tanx) eans & _

dx
(1) -secx - {2) secx
(3) —tanx (4) tanx '

95. Rolle’s theorem is not applicable in which of the following cases
(1) f(x)=x"-3x+2o0n[L2] 2) f(x)=x*on[-11]
(3) f(x)=x*-xon[1,2] (4) None of the above
& 80b dodopyod® ') JoHhdo $5PoEAB.

(1) f(x)=x*-3x+2,[1,2] 2) f(x)=x*[-11]
(3) f(x)=x*-x[1,2] (4) 2 T3 D &Y

96. The pair of lines joining the origin to the points of intersection of the line y = mx + ¢ and
the circle x? + 2 = a? will be mutually perpendicular if

(1) 27 =a*(1-m?) 2) 2 =d*(1+m’)

3) 2 =d’(m*-1) (4) None

X2 +y? = a’ 5y5Q) y = mx + ¢ dp podosm A\ DooPhos Sure DoYS Seodm
38 Brasnifyo HEHE oSS

(1) 2 =a*(1-m?) @) 27 =d*(1+m’)

3) 2¢°=d*(m*-1) 4) 965

: dy
97. Ifx-y=sin(x~-y)then E=

x—y=sin(x-y) ®o0s 22=

dx
8 (2 0 3) 1 4 2
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98.

The percentage error in measuring the side of a cube is 0.3 then percentage error in volume
is

9 7
M 7 @ 1

3
(3) 10 (4) None

w8 S50 Bng) hzo Foded® &5 edo 0.3 wond & NS Hddrao Fodes®
&' Tdo :

Y 7
(1) 10 (2) 10

3 .
& = (4) 9856

99,

If a line makes angles o, B, y and & with four diagonals or a cube then the value of
sin? @ +sin” B+sin’ y+sin* & is
DSI0 Dng) Tl STod’ wE T o, B, Y S00asn O Saren WD

sin” @ +sin’? f+sin? y+sin? 6 =

)3 @ 3 @) 3 @ 3
100. The curve 6y = 7—x* and y = x? intersect at (1, 1) at an angle of
(1, 1) oo 3g y=x?S50ckm by=7-x Sgre dg Ewo

/1 /4 /4

(1) = @ 3 G 3 @ 7

101.

The circle concentric with x* + y> —2x+4y+5=0 and radius 2 units is

X! 4+y"=2x+4y+5=0 S)do8" SBodo Tgrgo 2 chrART Ko S8 SHEswo
(1) x*+y*-2x+4y-2=0

(2) x2+y2—2x+4y+2=0

3) x*+)y’-2x+4y-1=0

(4) x*+y*-2x+4y+1=0
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102. The number of common tangents to the circles x> +y% = 16 and X +y? +6x-8y+24=0

18

x4 )2 = 16 50805 X7 +)2 +6x—8y+24=0 Simes fo &lyd 8 dveo Song
(1) 1 2 2 -G 3 4) 4

103.

The length of the latus rectum of a conic is 6. Its focus is (1, 1) and its directrix is
3x + 4y — 2 = 0 then the conic is

(1) aparabola (2) anellipse

(3) Hyperbola (4) Rectangular hyperbola

o8 dopo THoomo FEP 6 PSresren 508050 T (1, 1) WG B JdDESewo
3x+4y -2 =0wo0ns fopo A8

(1) SoSedcsho | (2) 5%53;6.0

(3) weadocledcso (4) &8 vadvdeocso

104.

fsin~! (3x—4x3)dx =

(1) xsin™ x+\/1—x2 +C

2) ? xsin'x++41-x? |+C

@3) 3| xsinx+41-x? [+C

L =

4) 4 xsin x+v1-x2 |[+C

«f 1+ xlogx :
105. Je (—-—g—-de
:
(1) e&*+logx+c (2) e -logx+c
X

(3) e*-logx+c 4) logx+c
106. The eccentricity of a rectangular hyperbola is

8¢, v8iTrdocho BwE), && ol

(1) 2 2 2 3) 3 4 3
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¥ 3
W P =
Jeot x ++/tanx
1) 0 2 3) = 9y =
(1) @ = & @
2
108. _[xlssinlxdx=
-2
ax - @i 3) 2 4 3
& 2
109. The order and degree of the differential equation (E) +2y=sinx is
(1 1,1 ) 1.2 (3) 2,2 (4) None
dyY’ '
(ZJ +2y =sinx @30S J0ECIN B, H0Sradn dckw S8K8
) i1 (2) 1.2 ) 22 (4) Qdbso
110. o

The integrating factor of the differential equation = +y=xe" is

Jc%+y=xex oS80d J0ESRY dSrind Koo

(1) x @ logx G & @ -
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111.

PART -1V : COMMERCE -1

Buildings, Bridges, Roads, Dams, Canals are examples of which industry
(1) Manufacturing industry

(2) Service industry

(3) Primary industry

(4) Construction industry

Fien, Sod8dw, 5'E), sdshw, sl Q H/FH ST Een?
(1) eensE dFSe

(2) Do J/EFSHen

(3) >E0E JoESoen

(4) Jogee DBFSoen

112.

Employment is a

(1) Social activity (2) Non-economic activity
(3) Economic activity (4) Political activity
&&'go I8

(1) >Srz8 sodg8erdo (2) ©gsss seggEerdo
(3) ©Q8 sEg¥erdo (4) oz=boH sEgEerdo

113.

Distance between production centers and consumption centers difficulty is removed by

114.

(1) Communication (2) Transport

(3) Warehousing (4) Advertising

©&)8 Sorros, AR Someh HEghio Erdos Q B3 g0 Fonhdod?
(1) &Sorgdsas (2) Garer

(3) AgorHen @) BELSeo

Which of the following is a feature of sole proprietorship?

(1) Single ownership (2) Unlimited liability
(3) One Man control (4) All ofthe above

& [80d TBS* Fod Tgrdo wEwC IB?

(1) 28 cHadr (2) @IS S g
(3) 28 558 dcoen (4) 23

V-Commerce-I 24



L15.

Senior most male member in joint Hindu family is known as

(1) Karta (2) Coparcener

(3) Partner (4) None

&30)8 olr Ktnowod® eIyt DFTBS 5580 Adoordd?
(1) &8 - (2) JId>El0d

(3) oo (4) b5

116.

Sleeping partner also called as

(1) Active partner (2) Dormant partner

(3) Working partner (4) Nominal partner

Yo% rENES Ko HORE D

(1) [ iy (2) e rEd

(3) JTD ;% (4) SHIrEY Tridd
117. The liability of partner is

(1) Limited (2) Unlimited

(3) Allofthe above (4) None

YN B, e rPgd

(1) H8oe&S0 (2) ©30880

(3) DS (4) Wb

118.

What is minimum members required to form co-operative society?

3558 dodd @;;’).‘65\) SS0RS E0 dghge Jopg
(1) 10 (2) 20 (3) 30

4 5

119.

What is maximum members in private company?

()= 2 2) 7 (3) 50
(R3E Sowwes® Koy debge dopg
)2 (23 7 (3) 50

(4) Unlimited

(4) oddL&o

120.

What is minimum paid up capital required by public company?
HOE EonR8 EADY BOoY Sredso Jod?
(1) 100000 (2) 200000 (3) 500000

(4) 450000
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121. Debenture holders are

(1) Creditors of the company (2) Owners of the company
(3) Leaders of the company (4) All of the above
&BoBE Tren 08 AT e EH?
(1) Boag Somarden (2) ZoR8 chadrdoen
(3) Bo2RE Trchdoen (4) 23
122. A company which is created by a special act of the parliament or assembly of any state is
called
(1) Government company (2) Statutory company
(3) Private company (4) Public company

SIS D0, TISHFS D B0, o Pabeagen P TITOH Bohdo o Ao)E0
VIS BoRROH DS00erEH? |

(1) ©ehgs sowden (2) T8 8 gowden
(3) (@3 Bodew (4) $DF Sowden

123. Which type of company issue prospectus?

(1) Private company (2) Public company
(3) All of the above (4) None

D 0 HBWoKH Do =6 BasSo?

(1) @3 %o (2) $98 S0

(3) 23 ' (4) W5

124. How many members signed the memorandum of association in case of public company?
50@55;‘5 Jgos* 50§ o8 D005 V08 008 Joso DoSrO?
1 5 2) 6 3) 7 4 8

125. Which of the following is long term sources of finance?

(1) Equity shares (2) Preference shares
(3) Debentures (4) Allofthe above
& 08 T8S* I BYFOE IE I5e?

(1) &858 orren (2) =&Yy ariren
(3) &BosK (4) 23
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126. Which shares can be converted into equity shares within a specific period of time?
(1) Irredeemable preference shares
(2) Non-convertible preference shares
(3) Convertible preference shares
(4) Cumulative preference shares

a8 PSS 00 SUgE O Terod S8 Trireom SrdSund?
(1) ©IIrSAcH whEGY Teren

(2) SrHT8 DB whEgD) TEren

(3) SrdsasS e8gH Tréren

(4) S0 sREgY Ftren

127. Which year Micro Small and Medium Enterprises (MSME) development act into force?
SrEy DS Dy SE5° éogo S0 dydo ©S0ene V8 Sod?

(1) 2-10-2006 (2) 2-10-2005
(3) 2-11-2006 (4) 2-11-2005
128. What is minimum members in public company?
(1) 2 : 2) 7
(3) 50 (4) Unlimited
HHE Sondew ED Jhge dopg .
(L) 2 (2 7
(3) 50 (4) wd8do
129. Which trade buying and selling of goods in large quantities?
(1) Retail trade (2) Wholesale trade
(3) Alltheabove (4) None
ES DoErwodt SHo Foffwn, olpsrer =8 SEEod dBootrdd?
(1) Des S88o (2) &*% 3850
(3) 23 (4) 8z

130. Import trade means
(1) Goods purchased from other country
(2) Goods sold to other country
(3) Production of goods in a country
(4) Alltheabove
BRHS S¢¥o wdm
(1) 288 B7re Hod SIHodH Flhoffer Babdo
(2) =288 Bros SNHoH wndo
(3) B¥os* 59Ho GEB
4) 239
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131.

What are the advantages of Special Economic Zones (SEZ)?

(1) Employment generation (2) Economic development
(3) Balanced regional development (4) Allthe above
D858 688 Soodey) GIRBrmes D2
(1) &&g8 olSsren (2) 608 wdS)Y
(3) 58 ook w95 4) Dsd
132. Fixed deposits also called as
(1) Time deposits (2) Term deposits
(3) Alltheabove (4) None
»5)8 A2l fo 00RBNE HdH
(1) 8% arzi (2) sos68 Aain
(3) 23 (4) dbs o
133. Which is the oldest mode of transport?
(1) Railway transport (2) Airtransport
(3) Pipeline transport (4) Water transport
& o8 TES* B YTSS Sarer FESS0?
(1) Ben Sare (2) orcsn Saer
(3) 2IBXH Sarese (4) =z=o Sorer
134. Which of the following is regulator to control Indian Money Market?
(1) RBI (2) Government
(3) SEBI (4) None
FrEERT0S* Ko I3 b daPoBoBs?
(1) 288 Badg wrgosd (2) @edego
(3) SEBI (4) Abss
135. Name of the shares issued by the company to employees

(1) Preference shares (2) Debentures

(3) Sweat equity shares (4) Deep discount bonds
£ &' gho 26 TH Tiro DHotrd?

(1) 885y siren (2) 2= HEren

(3) & &8 aréren (4) ©B% &7 o erodd
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136. Which of the following is not capital market instrument?

(1) Secured premium notes : (2) Deep discount bonds
(3) Disaster bonds (4) Call money

& 808 TES' B Joreds SrOEl FESS0 5E?

(1) 688 @ocko S'ey (2) o8 8208 ok
(3) 3K erod (4) Dend ESgo

137. Which market provides short term funds?

(1) Primary market (2) Secondary market
(3) Capital market (4) Money market

a S 05708 Ao IB0ErEH08?

(1) @>EDE 37Q) &6 (2) BgdoH S35
(3) Sorelds 98 (4) 835 Srges

138. [Indemnity principle is applicable to

(1) Fire insurance (2) Marine insurance
(3) Motor insurance (4) Alltheabove
S8 drrodin J HIr% SPowde?

(1) en dsr 2) s50E ds»
(3) &S dsor 4) 23y

139. What is the base year of Nifty index?
AP D By, (@826 Jorso A8?
(1) 1978-1979 (2) 1980-1981
(3) 1995-1996 (4) 2000-2001

140. Which consumer protection act enacted?
IABrhorde 8o S0 2 JoSHHBos® Erdrodomdd?
(1) 1986 (2) 1987
(3) 1988 (4) 1989
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141. How many redressal agencies under the consumer protection act 19867
1986 DASrETHO S SRINS' SrddS $0I,E Soger IJ?
1 3 (2 4 3) 5 4) 2

142. In which street is Bombay stock exchange?

(1) Dalal street (2) Wall street

(3) President street (4) Prime Minister street
08 E JBo& 2 IBS* &H)B?

(1) Sos 28 2) =6 28

(3) ogs8 28 - (4) BFsSo@ 20

143. Goods and Service Tax (GST) was introduced in which country?

(1) India (2) America

(3) England (4) France

3% Do dx)d HIFYS Bdo

(1) =085 (2) o305 ,
(3) =omob | @ &

144. Which is facets of electronic banking?

(1) ATM (2) Telebanking
(3) Mobile banking (4) Alltheabove
& Bod TES* JOEIE ergodoli Gden JD?

(1) 2.8.08%0. ' (2) B8O argool
(3) [00BS ergooh (4) 23

145. Which bank is called Central Bank of India?

(1) Reserve Bank of India (2) State Bank of India *
(3) Union Bank of India (4) CanaraBank

P EEBF0e" ol wrgotd AB?

(1) dadyg wrgod &9 woddsr (2) RS wrgof &S xodair

(3) rAHS wrgof &P ol (4) 330 wrgos
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146. A contract between two or more insurers.

(1) Double insurance (2) Re-Insurance
(3) Alltheabove (4) None
o (Bo) wodsoB I8 S HA> 60"30 S0gg wdyodoso DB00erE?
(1) &godsg DS (2) PGS
(3) 23 (4) 28 5%

147. Which entrepreneur introduce new goods and new production methods?
(1) Fabian entrepreneurs (2) Drone entrepreneurs
(3) Imitative entrepreneurs (4) Innovating entrepreneurs
£ 659 SnPosH Hoaw Y @& HgEosH BT Jowdirgd I360?
(1) ITIY ooplrgd (2) 6 VEY VogRrgd
(3) w8l oy (4) S38S doRsrgdy

148. Advantages of insurance

: (1) Provides certainty (2) Provides security

(3) Distribution of losses (4) Alltheabove
DS Sod PAruTen
(1) dggss sOyoHe> (2) HEs Exyow
(3) SyosH Dot (4) 235

149. Which deposits maintained by traders and business men?
.(1) Saving deposit accounts (2) Fixed deposits accounts
(3) Current deposit accounts (4) Recurring deposit accounts
$g8e0, Tgrdden 2 AF2dS pracen EOA Gotrdd?
(1) Ddoh) &2 greren (2) 28586 &dFr28 groew
(3) &dodn &>r2d preren (4) B8BoA &F2E groven

150. Which is not advantage of transport?

(1) Movement of goods (2) Creatioh of place uﬁlity
(3) Stability in prices ; (4) Accident
& (808 8BS ST PAreS0 5°8.
(1) 3D S800kto (2) o Garasoe
(3) 6o POSTe (4) PSroren
00000
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